
 

Solutions



a median item 15.5

median 5 t 12 5 9.17 min

b
s.ae EtnI feezj 5ff f oT 7 oi

a min



Median 9.17
c

a
2

2x t 15 E

E 2 9,17 15 33.3 min

sat Sdn x 2

7.01 2 14.02 14.0 min

d

Require less than 35mi

Coded 35 35 15 10
2

From table 18 out of 30 took C 10

So reasonable to estimate 36 outoffo

will be within the time limit

should be able to fill 25 positions



a P 5 EX Liz P X Eu P tea

0.8939 0.0495

0 8444

b X B 40 0.25

Ho p 0.25 H p 0.25

where P is prob randomperson selects organiceggs

P x 16 I P X Els

I 0.9738

0.0262 I

Accept Ho
There is not sufficient evidence to suggest
that percentage of people buying organic eggs has
increased Accept it is still 25



c 0.0262 C 5

so opposite conclusion would be reached

Accept It percentage buying organic eggs
now greater than 25





Pressure Outliers above 1013.5 t l 5 3.5 1018.75
or below 1010 l 5 3.5 100475

Rainfall Outliers above 50.7 t 1.5 21.5 E 82.95
or below 29 Z l 5 21.5 3.05

Pressure outliers 1022 1019 both 1018 75

Rainfall outlier 102.0 7 82 E5

b Apparent negative correlation replaced

by no corelation

c Perth has a lot of zeros for rainfall

and none have appeared in this sample

d Indicates the change reduction in rainfall
perday for each increase of 1hpa in pressure

e Unreliable as large data set does not cover December



0.15

a A and S are mutually exclusive

since PLANS O circles do not intersect



b A D independent

HAND PCA x PCD

0 I pto x 0.25

0.4 Pt 0.1

p 0.3

In S q 0.2 0.05 0.15

I ptg t 0.25

r I 0.3 0.151 0.25

r 0.3

c P D xp s 0.25 0.2 0.05

P Dns 0.05

P Drs P D xPCs

IDandsareindependent
d Teacher is incorrect



a

ig.fi

t Eatz
O 19.6 4v 14.9 42
19 6 4.9 42 v

4

v 24.5 ms

Speed hitting ground 24.5 ms

b Set new origin at ground level

2 u t 2 as



O 14.72 19.65

S 14.72
19.6

S 11.025in II Om

c Air resistance being considered in model

would lead to a reduction in the speed

when hitting the ground



v i
i

i

O 120

b 120kV 1500

1501 25
60

V 25
1

ms

c Different values of T would correspond to
different accelerations and decelerations



However if max speed is reached
their constraints of model remain unchanged

Distance 2 baseof o x height 1500 m

Iz X 120 x V 1500

which is independent of T

d Allow for variable acceleration as it changes
from acceleration to deceleration



e2.5ms2 77 T

AT µ a 2.5ns 2Rsl 5N

t
Mg

Ai For P Nu F ma

T 1.5 0.4 2.5

T It 1.5

T 2.5 N



ii for Q Mog T 2.5M
NZL

10M 2.5M 2.5

M
7 5

m f Kg 0.33kg

b Ford s ut t Eat
2 O t 4 2.5EZ

2 t
1 25

E 1.26 s

c likely to be friction at pulley



a
s fo vdt KE t

16 l o o

15 m

b V o 16 3 t o

Lg E

E 2.31 s

c s o volt to

16T T's to

1 16 T2 o

T 4 t

Returns when teds










